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Addition -3

1. If the addends are added in any order then the sum

a) Zero b) One

c) Remains the same d) None of these
2. 80676 + 98765 = 98765 +

a) 98765 b) 80676

c) 179441 d) None of these

3. On Monday John drove 223 miles, on Tuesday he drove 72 miles and on Wednesday he drove 142
miles. How many miles did he drive in three days?

a) 437 miles b) 473 miles
c) 537 miles d) None of these

4. 8000+ 7 +800 =

a) 8007 b) 8708

c) 8807 d) None of these
5. - 7809 = 82564

a) 93073 b) 90373

c) 90337 d) None of these
6. + + + = 840

-0

a) 445 b) 555

c) 545 d) None of these
7.732365 + 725 + 327685 + 2975 =
a) 1036750 b) 1603750

c) 1063750 d) None of these
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8. Find the sum of the place value of 7 and 5 in 735429.

a) 705000 b) 750000
C) 700500 d) None of these
9. One less than 99999 is added to fourteen more than 996. What will be the resultant number?
a) 100108 b) 110008
c) 101008 d) None of these
10.
8765

+1 8 7

10612
a) 1 b) 2
c) 3 d) 4
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